PO Box 423 Seminole, TX 79360 (432) 209-1912 herman@farmboystruck.com

INVOICE

BILL TO Jackey Williams INVOICE # 1410 DATE 06/04/2020

DESCRIPTION		QTY	RATE	AMOUNT
Vehicle Description 2008 Peterbilt 379 Miles-1717858 Unit#GVS				
Labor				
Truck came in loosing antifreeze in oil Performed pressure test, pulled oil pan found le R & R water pump, Toped off fluids.	eak on water pump,	5	85.00	425.00
Parts Used				
Water pump		1	529.85	529.85T
Oil filter		1	17.23	17.23T
Rotella T 15w40 Motor Oil		10	18.99	189.90T
Antifreeze		4	12.99	51.96T
Shop Supplies		1	4.25	4.25T
Thank you for your business!	SUBTOTAL			1,218.19
	TAX			49.57
	TOTAL			1,267.76
	DEPOSIT BALANCE DI	ıc		500.00
	BALANCE DI			\$767.76

PO Box 423 Seminole, TX 79360 (432) 209-1912 herman@farmboystruck.com

INVOICE

BILL TO Jackey Williams INVOICE # 790 DATE 10/10/2019

DESCRIPTION	QTY	RATE	AMOUNT
Vehicle Description 2008 Peterbilt 379 Unit GVS Mileage - 1,688,009			
Labor			
Replace head gasket (customer did not want the head res. fa. d or tested) Replaced radiator Recharged AC system Top off fluids	20	85.00	1,700.00
Parts Used			
Head gasket kit	1	1,142.00	1,142.00T
Radiator	1	1,708.50	1,708.50T
Peanut cover	1	69.86	69.86T
Antifreeze	11	12.99	142.89T
Oil filter	1	18.82	18.82T
Rotella T 15w40 Motor Oil	11	18.99	208.89T
Shop supplies	1	42.00	42.00T
Thank you for your business! SUBTOTA	,L		5,032.96
TAX			208.31
TOTAL	-		5,241.27
PAYMENT BALANCE			5,241.27
BALANOL	DOL		\$0.00

PO Box 423 Seminole, TX 79360 (432) 209-1912 herman@farmboystruck.com

INVOICE

BILL TO Jackey Williams

INVOICE # 722 DATE 08/16/2019

DESCRIPTION		QTY	RATE	AMOUNT	
Vehicle Description 2006 Peterbilt 379 Unit GVS Mileage - 1,679,717					
Labor Replace #5 & #6 valve actuator		2	85.00	170.00	
Parts Used					
CAT Valve Actuator Kit	\searrow	1	392.40	392.40T	
Thank you for your business!	SUBTOTAL			562.40	
	TAX			32.37	
	TOTAL			594.77	
	PAYMENT			594.77	
	BALANCE DUI	Ξ		\$0.00	

·····	***************************************	
Thank you for your business!	TOTAL	12,107.32
	DEPOSIT	5,200.00
	PAYMENT	6,907.32
	BALANCE DUE	\$0.00

PO Box 423 Seminole, TX 79360 (432) 209-1912 herman@farmboystruck.com

INVOICE

BILL TO Jackey Williams INVOICE # 1207 DATE 04/01/2020

DESCRIPTION	QTY	RATE	AMOUNT
Vehicle Description 2008 Peterbilt 379 Unit#GVS Miles-1717458			
Truck came needing a new head (Bad cam and half of the bad as well) Removed and undressed head Cleaned block and dressed new head and re-assembly Truck also had 2 bad injectors (#3 and #4) The rest of the injectors got new O-rings Toped off all fluids After test drive found #3and #4 actuator bad R & R valve acturator.	24	85.00	2,040.00
Parts Used			
New head with cam and bearings	1	5,200.00	5,200.00
Head gasket kit	1	1,142.00	1,142.00
Rocker assembly	6	195.00	1,170.00
Injectors	2	596.25	1,192.50
Injector O-rings	4	24.61	98.44
Compressor Gasket	1	25.01	25.01
Bottom radiator hose	1	12.35	12.35
Exhaust tube from top turbo to bottom turbo	1	392.12	392.12
Antifreeze	11	12.99	142.89
Rotella T 15w40 Motor Oil	10	18.99	189.90
oil filter	1	18.82	18.82
R134A Freon	72	0.50	36.00
Actuator kit	1	392.40	392.40
Shop Supplies	1	54.89	54.89